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@ 5a+4b @5a—2b ® 5a-4b
@ —5a-2b ® —5a+4b

(3a+b) + (2a—3b) =3a+ b+ 2a—3b
= ba - 2b
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(5x+2y-7)+ (x—2y-3)
=0x+2y-7+x-2y—3

= 6x—-10

wEtA g =6,b =0, c = —10°| B2
a+b+c=-40]tt
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(4x+3y) —2(2x—y+1)
=4x+3y—4x+2y-2
=5y—-2
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(£4) =3x—2y+ (5x -4y —x + Ty + 2x)
= 3x -2y + (6x + 3y)
:3x—2y+6x+3y
=9x+y
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(3a® = 2a - 4) - (-24% + 3a - 2)

D a®+a-6 @ a’>+a-2

® 54a2+a-6
@ 5a® —5a -6 @5a2—5a—2

(3a2—2a—4)_(_2a2+3a_2)
=3 ~2a—4+ 2 ~3a 42
:5a2—5a_2
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D a=-2,b=5 @ a=-1,b=6
®a=2b=6 @a:—z,b:—6

®a=2b=-6

€8 ~
x—{b5x—2(x-3y)} =x- (5x—2x + 6y)
= x— (3x + 6y)
=x—3x— 6y
= —2x — 6y
coax + by = —2x — 6y
et g = -2,b = -6
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Da=-1,b=1 @ a=-1,b=2
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3x—{2x—(x—y)} =3x-(2x—-x+Y)
=3x—(x+y)
=3x-x-y

=2x-Yy
ax+by=2x-y
Wt a = 2,6 = -1 o]},




5x [3y {x—(2x—y)}]
D x-y @ 2x-y ® 2x-2y
@)dx -2y ® 4x-4y

5x— [3y—{x-(2x-y)}]
=5x-{3y—(-x+y)}
=5x—(By+x-y)
=5x—2y—x=4x-2y




® 2x-3y-5 @ 2x-2y-5 ® 2x-2y+4

(Bx—2y-1)—(x—3y—14)
=3x-2y—-1-x+3y+4
=2x+y+3




@ a®+a-2 @ a®+a-3
@ 24° - 20 -1 ®)2a* +a-1

@ 2a2—a_1

(@ +3a-2) — (e + 22— 1)
=a2+3a_2+a2_2a+1
=2a®>+a-1
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@ -2x2-x+38

@ —4x2>-3x-2

(@)2x2+x—8

® —-4x2-3x-8

® 2x2-3x-2
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5x—[3y—{x-(2x-y)}]

@® x-y @ 2x-y ® 2x-2y
@4x—2y ® 4x -4y
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5x— [3y- {x-(2x-y)}]
=5x—{3y—(-x+y)}
=5x—(By+x-y)
=bx—-2y—x

=4x -2y




1 5be ), 0 o] Aot

S

o

3)9 @®-15 O -2

@ 15

4a® +3a+3
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a’>—2a+4+3a%+5a-1
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@ x15 @x16 @ x17 @ x18

@ x14

xx () x x3 = x1H12+3 = 16




